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Note: (1) Answer all questions.

(2) Each question carries 1 mark. There are no negative marks.

(3) Answer to the questions must be entered only on OMR Response Sheet provided
separately by completely shading with Ball Point Pen (Blue/Black), only one of
the circles 1, 2, 3 or 4 provided against each question, and which is most appropriate
to the question.

(4) The OMR Response Sheet will be invalidated if the circle is shaded using pencil
or if more than one circle is shaded against each question.
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The area bounded by the curve x? = 4ay and the line y = 24 is
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51. A body is falling freely from a height of 78.4 m. Its velocity on reaching ground is (given that
g=9.8 ms) ()

(1) 19.6 m/s (2) 39.2 m/s (3) 78.4 m/s (4) 156.8 m/s
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52.  The maximum height reached by a ball thrown at an angle 60" to the horizontal with an initial
velocity 9.8 m/s is (given that g = m/s?)

(195735 m (2) 1470 m (3) 29.4 m (4) 3.675 m
53.  Which of the following statement is wrong pertaining to coefficient of static friction (n)
(1) K is different for different pairs of surfaces

(2) u, = 0 when there is no applied force 8
(3) u, > 0 when there is an applied force 2 G&

(4) 1, < 0 when there is an huge applied force

54.  If 6 is the angle of inclination plane and o is the angle of repose then the body slides down with
some accelaration when

(1)6 = 2)0>a 3) 0>« (4) 6 > 2a

55.  The mass of a person in kg, if the work done in carrying a box of mass 20 kg through a vertica!
height of 10 m is 9800 J is (g = 9.8 ms ?)

/(l 80 (2) 40 (3) 60 (4) 70
56.  The horse power of the engine required to lift 0.54 x 10° kg of coal in 30 minutes from a mine
of 37.3 m deep is (g = 9.8 ms ?) i
(1) 294 (2) 588 (3) 688 '-/(4) 147
57.  In hydroelectric stations
(1) Kinetic energy is converted into heat energy
(2) Potential energy is converted into electrical energy
(3) Kinetic energy is converted into electrical energy
(4) Kinetic .energy is converted into potential energy

58. If "X’ is displacement and ‘a’ is acceleration of a particie executing simple harmonic mot:
then its time period (T) is given by

X a 1 X | a
1) 2 }- 2)2 f— — }— — =
(1)2n . (2)2n X (3) 27\ 3 (4) 5 ”X
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59.

If T is time period of a particle executing simple harmonic motion then the phase of the particle
il

whent= — is
4

(1) Zero (2) g

Ve

3n
G)n 5 R
The displacement of a particle executing simple harmonic motion is given by y = 8

sin[0,4m + g] . Then its time period in seconds is

(1) 20 (2) 10 3)5 (4) 25

A seconds pendulum is taken to a planet where acceleration due to gravity is one-fourth of the
value on the earth, then the time period on that planet is

(1) 1s (2)2s 3)4s (4) 8 s

On a planet a freely failing body takes 2 seconds when dropped from a height of 32 metres. If
the time period of a simple pendulum is 27 seconds, then its length on the planet is

(1)4m (2) 8 m (3)32 m (4) 16 m

A boy hears an echo of his own vqice from a distant hill after 5 seconds. If the velocity of sound
is 330 mV/s, the distance of the hill is

(1) 425 m (2)825m . (3) 1650 m (4) 850 m

A litre of gas is at 27°C. Then the temperature required to heat to make its volume double is
(1) 600" C (2) 300" C (3) 100" C (4) 327°C

Which of the following statement is correct in case of a isothermal process of a gas

(1) Temperature changes

(2) Exchange of heat takes place between gas and surroundings

(3) Internal energy changes

(4) It is a quick process

If the pressure of gas is increased four times and its absolute temperature is reduced to half of
its initial value, then the ratio of initial to final volume is '

(1)8z 1 2)4:1 ° (3)1:8 4)1:4
Light transmitted through the optical fiber by the phenomenon of

(1) Reflection (2) Refraction

(3) Interference ) (4) Total internal reflection

The superconductivity of a substance below critical temperature can be destroyed by
(1) Increasing temperature (2) Decreasing temperature

@6' Application of magnetic field (4) Application of electric field
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76.  E’ of Zn electrode is —0.762 volts. The single electrode potential of Zn electrode in deci molar

ZnSO  solution is ( )
(1)-0.7915V * (2)-0.671 V 3) +0.7915 V (4) +0.671 V
77.  The function of salt bridge is ¢ )

(1) to produce a link between two half cells
(2) to allow ions to go from one cell to another cell
(3) to keep the EMF of the cell positive
/(A) to maintain electrical neutrality of the solution in two half cells ?

78.  The chemical composition of rust is ( )

(WFeD.XHO ¢ (2) Fe, (3) Fe,0,XH 0 (4) Fe,0,

79.  Which one of the following could provide cathodic protection to iron? ¢ o
(1):Ca A2 Zn» (3) Ni (4) Co

80. Degree French (F) is G

/(/f) The parts of CaCO, equivalent hardness per 10 parts of water ¥
(2) The parts of CaCO, equivalent hardness per 10° parts of water
(3) The parts of CaCO, equivalent hardness per 10* parts of water

(4) The parts of CaCO, equivalent hardness per 10" parts of water

81.  The chemical formula of Zeolite is ()
(Ra,0ALOXSIO YO (x = 2-10, y=2-6) @
(2)K,0ALOSIOHO
(3) CaOALO,xSiO,yH O(x=2-10, y=2-6)
(4) BaOALO,SiO,H,0

82.  The total dissolved solids in drinking water should be » -
(1) Less than 600 ppm (2) Less than 700 ppm
(3) Less than 500 ppm (4) Less than1000 ppm

83.  The monomer of Teflon is G )
(1) FCIC = CCIF (2) CLC=CCl, (N EL=CF, (4) FCIC = CF,
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In I3 Lewis base is ¢ )

@ r » 2 L B)-1; 4 L
One ml of 0.IN HCI is added to one liter of sodium chloride solution, the pH of the resulting
solution is ¢ )
(17 )1 (3)4 » : )2 .
Which oil is used as frother in froth floatation process ey
(1) Mustard oil (2) Coconut oil (3) Olive oil (4) Pine oil -
German silver consists of ' fn)
(1) 46% Cu, 34% Zn, 20% Ni ¢ (2) 46% Fe, 34% Cu, 20% 7n
(3) 46% Ni. 34% Mn, 20% Cu (4) 46% Fe, 34% Ni, 20% Zn
The units of molar conductance are : | i)
(1) © em mol! 2) Q' ecmPmol ! » 3) Qcm?mol! (4) Q em’mol

o
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